


Example : fix.gr- xty glxiykxtyt For this particular choice of fix.gs ,
there

were two solutions
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• (Another example , this time with 4 solutions )



Key point: EXTREME VALUE THM . regions closed bounded
it guarantees the existence of max and min of a
function f. on a region R if . . . .

✓ x

o fictions on R
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and XZO

. Risdosed :

every point that is • cop , X ✓
" infinitesimally close" to R is actually
- x'tight
in R .

In other words
, any point & ×< o

not in R has ' 'positive distance" from R .
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¥ bounded If guy, is not closed or not bold , this

( ✓ ✓ is not applicable . e.g . fxykxty has

no max and no min on x - y
-
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x'ty - 1=0
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Every point 1in the domain off ) by definition
Moreover : fix .gs was assumed differentiable , belongs to some level setoff

.

I just can't
so in particular continuous draw all the level sets there are infinitely many) .
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: . fix .gs has a max and a min on
.
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exerypt is a solution (x many sol . )

In any case : at least two solutions
.

flat -- 5 so top ) is on level set 4Hosx=5


